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QUESTION 1

Given: 

What is the result? 

A. b1 

B. 2 

C. b2 

D. 1 

E. b3 

F. 3 

G. The compilation fails due to an error in line 1. 
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Correct Answer: F 

 

 

QUESTION 2

Your organization makes mlib.jar available to your cloud customers. While working on a new feature for mlib.jar, you
see that the customer visible method public void enableService(String hostName, String portNumber) executes this
code fragment 

and you see this grant is in the security policy file: 

What security vulnerability does this expose to your cloud customer\\'s code? 

A. privilege escalation attack against the OS running the customer code 

B. SQL injection attack against the specified host and port 

C. XML injection attack against any mlib server 

D. none because the customer code base must also be granted SocketPermission 

E. denial of service attack against any reachable machine 

Correct Answer: E 

The correct answer is E. denial of service attack against any reachable machine. The code fragment shows that the
enableService method uses the AccessController.doPrivileged method to create a new Socket with the specified
hostname and portNumber. The security policy file grants the codebase permission to connect to any host using
SocketPermission. This means that an attacker could potentially use this method to repeatedly create connections to
any reachable machine, overwhelming its resources and causing a denial of service attack. 

 

QUESTION 3
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Given the code fragment: 

var pool = Executors.newFixedThreadPool(5); 

Future outcome = pool.submit(() > 1); 

Which type of lambda expression is passed into submit()? 

A. java.lang.Runnable 

B. java.util.function.Predicate 

C. java.util.function.Function 

D. java.util.concurrent.Callable 

Correct Answer: D 

Reference: https://www.codota.com/code/java/methods/java.util.concurrent.Executors/newFixedThread Pool 

 

QUESTION 4

Given: 

What is the result? 

A. 9 

B. An exception is thrown at runtime. 
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C. 3 

D. 6 

Correct Answer: D 

 

 

QUESTION 5

Given: 

and 

Which is the correct implementation of the getRatings method in the Football subclass? 

A. The subclass getRatings method uses public.getRatings() to call the base class method but uses its own named
fields in the implementation. 

B. The subclass getRatings method implementation directly accesses the fields in the Sports superclass. 
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C. The subclass getRatings method uses new.getRatings() to call the base class method but uses its own named fields
in the implementation. 

D. The subclass getRatings method uses super.getRatings() to call the base class method but uses its own named
fields in the implementation. 

Correct Answer: D 
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